BIC

5x10°

log[ Relative Probability ]

—200

Window Half—Width (km/s)

2x108

108

2x10°

5

10

—100

1000

100

rm426 2/(405827 —~5038)=0.887

T T T T T T +
' BIC 420602 84 ABIC 0. OOO AlogP 0.0000
i x 355543.72 Ax 0.000 AlogP 0.0000 T
5 ' 1
=4 : : .
: _______________ h_:_.ﬁe?c—_._. _______________________ -B|C
L : ABIC —232210 : 1124 «( )
i , M —232210 -25.5 |
4949 : 4949 : 5038
A | : | ACg :I | AC5F | |
20 40 60 80 100 120
120 iterations
rm426 2/(405827 5038) 0.887

BIC 420602 84 ABIC 0. OOO AlogP 0.0000
2 2

i 4949 4949
L | A | | | AC5 | |
20 40 60 80 100 120
120 iterations
Fe2 11% 517+194 km/s
rm426 BLR 7700 NLR 900 km/s
F T T T T T T T T T T

rrriHM9r49_r L ~ 7 5038
A , ACs ; ACF

L

20 40 60 80 100 120

120 iterations

kdh1 11-0ct-2021 04:28

BLR

NLR
Fell



